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Phép tror (Ngang) Ho va Tén:
Giai cac cau hoi. Cau tra loi
1.
) 98 - 35 =
2.
2) 31 - 2 = 3.
4.
3 959 - 31 =
5.
4 785 - 420 = N
7.
S) 2.420 - 2 = o
9,
6) 6.716 - 5.699 =
10.
D 405 - 50 = 1.
12.
8 45 - 3 =
9 4.500 - 94 =
10) 873 - 3 =
) 2,181 - 26 =
12) 4319 - 8 =
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ﬂh Phép tror (Ngang)

Ho va Tén: Loi gifli

Giai cac cau hoi.

1) 98 - 35 = 63
2 31 -2 = 29
3) 959 - 31 = 928
4 785 - 420 = 365

5) 2.420 - 2 = 2.418

6) 6.716 - 5.699 = 1.017

7 405 - 50 = 355

8 45 - 3 = 42

9 4.500 - 94 = 4.406
10) 873 - 3 = 870

1) 2,181 - 26 = 2.155
12) 4319 - 8 = 4.311

Cau tra loi

1 63
2. 29
3. 928
4. 365
5. 2.418
6. 1.017
7. 355
8 42

9. 4.406
. 870
1. 2.155
12. 4.311
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Phép tror (Ngang) Ho va Tén:
Giai c4c ciu héi. Cau tra loi
4.406 29 928 42 355
63 2.418 1.017 870 365 1.

2.

) 98 - 35 =
3.
4,

2) 31 -2 =
5.

3) 959 - 31 = >
7.

9 785 - 420 = 8.
9.

5) 2.420 - 2 = 0.

6) 6.716 - 5.699 =

7 405 - 50 =

8 45 - 3 =

9 4.500 - 94 =

1) 8§73 - 3 =
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